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Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.

All questions carry equal marks.

1. Explain Euler’s method to solve a differential
equation.
aumspansamils  swerurliger  Kuler’s  @penmenw
ellend@s.

2. Explain Secant method to solve a roots of
equation.
FOGTUTL g6 (peLd &TewT 2 Hajb Secant (penmeni
afeur.

3. Define the formula Simpson’s rule.

Flbevmen edSl- 61 @GS TSMS euanTwIm).

4, What is Quartile Deviation?

Quartile Deviation erenimmed ereses?

5. Define random variables.

Random variables-enw cuenguipy.



10.

11.

12.

Write any two continuous probability
distributions.

gCaaid @)t (h continuous probability

distribution-epw er(psg.

What is called standard error?

Standard error ereipméd erevien?

Write any two uses of Chi-square test.
Chi-Square test -6ir Qreadr(h LWGTEMET 6T(LPGIS.
What is a queue? Give an example.

Queue eranmmed erenan? T(HSSHISHTL(H S(Hb.
Define singly linked list, with example.
Singly linked list-enwi 2 srranTSgIL6m ueanFwIM).
What is known as tree traversal?

Tree traversal eresimmed eresmen?

Define an edge with an example.

Edge-enw o gryemsgLen euenyuimi.
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13.

14.

15.

16.

PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

Find the real root of 2x-sinx-1=0, using,
Newton -Raphson method.

2x—sinx—-1=0-ar @pasens Newton-Raphson
papenwt efleur.

Explain Simpson rule and Trapezoidal rule with
examples.

Simpson, Trapezoidal rule-ew o gryewsgIL e
ellend@s.

Find the MGF of binomial distribution.

Binomial distribution-er MGF eows eflerd@s.

Calculate the rank correlation coefficient of the
following data :

X: 78 75 72 71 65 64 62 60

Y: 13 13 14 14 14 16 17 17

&ECip 2 e greys@psatar correlation coefficient-eanw
SaEE ().

X: 78 75 72 71 65 64 62 60

Y: 13 13 14 14 14 16 17 17
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17.

18.

19.

20.

21.

Explain the roles of Chi-square test.

Chi-square test-em LweaTLITL 1g ener 6l6ms @s.

Discuss the role of stack and queue in computer

applications.

Stack, queue-er computer vweTuT iqenaT UMD

efeur.

Explain about the binary tree traversal with

examples.

Binary Tree Traversal-enw 2 srrantggiLen 6flams @

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.
All questions carry equal marks.
T
Solve the problem I sin x dx by using Trapezoidal
0

rule and Simpson’s rule.

m

J.sin x dx -eow Trapezoidal wHmib  Simpson

0

pamuiled Srésab.

Fit a Poisson distribution to the following data and

calculate the theoretical frequencies
No. of mistakes / Page : 2 3 4 5 6
No. of pages on which mistakes 85 60 15 3 2
occurred :
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ECip 2 eer syeysEnHsEE Theoritical frequency wphmitd
Poisson distribution -enws flmeue]id.
No. of mistakes / Page : 2 3 4 5 6
No. of pages on which mistakes 85 60 15 3 2
occurred :

22. Compute the coefficient of correlation between
X and Y series.
X: 9 8 7 6 5 4 3 2 1
Y: 256 20 17 15 11 12 17 10 9

X opmd Y  @enCGuwrer  Correlation
coefficient -ew sawrsd (hs.

X: 9 8 7 6 5 4 3 2 1

Y: 25 20 17 15 11 12 17 10 9

23. A survey of 280 families with 5 children each
revealed the following distribution. Is this result
consistent with the hypothesis that the male and
female births are equally probable?

No. of boys : 5 4 3 2 1 0
No. of girls : O 1 2 3 4 5
No. of families: 24 56 70 80 40 10

ohgl GRHmsser 2 der 280 GHbUBIGMmET ey
Qewigder Epsaanm_ efleurmser Qgsflueubsar @ smens
Qaranr(h <per LOHMD  Cuedr HLIGEsET  FoTe
BlEDSEH6| GTET HHSSTEEHD (PIETLUTL DD cTemd: Fo ).

No. of boys : 5 4 3 2 1 0

No. of girls : 0O 1 2 3 4 b5

No. of families: 24 56 70 80 40 10
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24.

25.

Explain linked list with suitable examples. Write
their applications.

Linked list-eow o gmyewsgiLen edlens@s. g6
LIWIGOTLITL lq 6D 60T GT(LDGIS.
Explain shortest path with Dijkstra’s algorithm.

Diskstra’s Algorithm epeid Shortest pathenw
eNeT&&He,Lb.
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